27 5

500 w 0%( H23 100% ()H27
79.3% ()H2379.8% )( H27
51. 8%( H2355. 5% [ H27
# 0%(H23 100% ()H27
1/ 40 5. 6km 58 H23 73 H27
(2,964n2, 924m) 1%H23 19wl27
1 H23 4 H27
H23 4 H27
H23 H25 27
( #w 500 0% 1 0%
10 1
Yo = 10 1 (ha)/ (19, 39 79 %3 79 %8
0. b 0. 2
ha 18, 341ha 51 %8 55 %5
#w 83km 0% - 1 0%
21 21 0% - 1 0%
(m) (5, 600m 5 8 7 %
m 2,924m 1% 1%
1 4
0 4
106343 106121 18 68 %




Al

H3 H2 H3 HB H2Z
Al1l 12 L=54km 10,207
Al2 * ®=6,0Mmt 14 m3 10,293
L=1, 2¢0=03m Ontn0
Al3 > 3, 94
Al4 12 1, 93
Al5 12 20
Al6 50m3/ 3, 8[4
—
Al7 12 25,2024 :
TN
L=4,000m®m, 2560, 00 m
Al8 12 L=3,300m, 000mm 6 . 5n8 11,699
A 9 12 4, 8|6
A 10 12 1,8|7
Al1l 12 1, 380
Al 12 12 1, 6[1
Al 13 12 EEEm lO,QFHi24:
Alil4 12 =45k 5, 2|6 50
Al15 12 — 45
A1l 16 12 r— 30
94 ,2h2
2
H3 H2 H3 H B H2Z
A 21- L=5.6k ——— 9 9[H24:
A 22- ) L=2,924m 3, 5/2
A 23- N=3 P 26
A 24- — 6
A 25 I— 4
A 26- P 11
4, 56
98,798
H3 H2 H3 HB8 H2Zz
B1 | NN 18/H24:
18|
B1 A2-1 #w




H3 H2 H32 Ha HZ
ci - 34
cz2 - 1]
Cc3 - 12 L=0m2k 33
68
Cc1i
cz2
Cc3 50
H3 H2 H 3 H 8 H2Z
A' 24 - 12 1, 2[7
A' T - 12 16,468
A' 8 - 12 L=2,100®&, 750mm 1, &7
A' 13|1 - 12 5, 8|1
25,544
HB HZ H8g H2 HB
A' 1 - 12 L=80km 15,000
15,000
Ha HZ H82 H2 HB
A' 2 - 1 28!
A' 8 - 1 18
A' B - 1 26
A' 2 - 1 L=40m — 19
63
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12

Al-
Al-8
Al- O

Al- 4

B 12
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23

|0

12

10 12

Al -

-10
12

40

|A1—1 0

|A1— 10
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1km
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